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Please make sure that the printed pages in this quesn'on paper of Part-IT are 8 in
number and it contains 35 questions.
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Candidates must write their Roll Number on the question paper.
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Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertamed after
examination.
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General Instructions :
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All questions are compulsory.
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(i) o7 #9% | & 35 7% TG o7 & g gew 1 9% @ & [T 7 geat 3
T oy

Questions from 1 to 35 are objective :yj;e questions. Each question is of 1
mark. Answer of these questions may be given as per instructions.

Select the correct option of the following multiple choice questions :

1. @& FCCYME 8w F R olfeerega afas & 7 1
Ay 4 (B) 2 B
€ 6 - - (D) 12

In a face centred unit cell (FCC) the number of Oclahedral Voids :
(A) 4 (B) 2
(C) 6 (D) 12

2. K,|Fe(CN),) & fu ar< 2% ST (i) & 99 & :
(A) 6 (B) 5

(C) 4 (D) 9
What is the valuc of Van't Hoff factor (i) for K,[Fe(CN)4] ?

(A) 6 (B) 5
(C) 4 (D) Zero

3. D¢ TR RS (SHE) 3 R S P FRmw T
(A) -0.5V (B) +1.0V
(C) 0.0V (D) +2.0V

Standard Electrode potential for Standard Hydrogen Electrode (SHE) is :
(A) -0.5V (B) +1.0V
(C) 0.0V | (D) +20V
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4. & Ablew F I SO I = KAR (B2 R, ga sl @ Fife el

(A) 3.0 (B) 0.5

(C) 1 (D) -0.5

Rate constant for a reaction is Rate = K[A]? [B]®/? thc order of reaction is :
A) 3.0 (B) 0.5

(C) 1 (D) -0.5

5. T FEe 3 A Ao &
(A) =g | (B)
(C) Uchre o (D) AN

Dispersion medium in Aerosol Colloid i1s :
(A) Air - (B) Water
(C) Alcohol - (D) Benzence

6. BT R iy ¢ ?

(A) PH, : (B) SbH,
(C) NH, - (D) AsH,
Which is most Basic ? .

(A) PHy  (B) SbH,
(C) NH, (D) AsH,

7. &t iy fee® S @ e B ?
(A) H,SO, | (B) NH,
(C) HC (D) O,

Haber's process is used to prepare :
- (A) H,SO, (B) NH;
(C) HCI (D) O,

C)
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RN P LNARE
8. P-4 d Iouay NFIF Hge Wefia & 2 7

(A) Cr (B) Mn

(C) Fe (D) Zn

Which Element will show highest oxidation number ?
S (A) Cr (B) Mn

(C) Fe (D) Zn

9, P FAgyEh M= a= e ?

(A) CO* (B) CN-
(C) NO; : (D) Br-
Which i1s Ambidentate Ligand ? r

A) Cco¥ (B) CN-
(C) NOy o (D) Br-

10. Sc3* dEF & THE S @

(A) 1.73 BM . (B)Y 0 BM

(C) 5.92 BM (D) 2.83 BM
What is the magnetic moment of Sc¢** ion ?

(A) 1.73BM | (B) 0BM

(C) 5.92 BM | (D) 2.83 BM

11. [CH{NH,),CLIC! & Cr 3 ST e ¢
(A) +6 (B) +1
(C) +3 (D) 4
The oxidation number of Crin [Cr{NH,),CL|Cl is:
(A) +6 (B) +1
(C) +3 (D) Zero
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12. s offvfrr s T A & 7 1
ArNSX- Cu/ HCI

> ArCl+ N, + CuX
(A)  wferT st (B) aat-sium affma
(C) META ST (D) dvsHiaT srf¥fean

What is the name of this reaction ?
ArN, X’ Cu/HC

» ArCl + N, + CuX

(A) Coupling reaction (B) Balz-Schiemann Reaction
(C) Gattermann reaction (D) Sendmeyer reaction
13. fhaa Faeis sfteay B 7 o 1
(A) CH,CH,CH,CH,OH (B) CH,OH
(C) CH,CH,CH,0H (D) CH;CH,0H
Which has Highest Boiling point ? '
(A) CH,CH,CH,CH,0OH (B) CH,OH
(C) CH,CH,CH,OH (D) CH,CH,OH
14. e & o fadgs Rirs ® 7 - 1
(A) NH,CH,CH,NH, (B) CO*
(C) NC- (D) H,O
Which one is Bidentate Ligand ?
(A) NH,CH,CH,NH, (B) CO*
(C) NC- (D) H,O
15, P A gm@ P oA & | 1
(A) C,H;OH  (B) CH,;COOH
(C) CgHsOH (D) CICH,COOH
Which is Least Acidic ?
(A) GH;OH (B) CH;COOH
(C) C,HsOH - (D) CICH,COOH
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16. CH,cONH, —22/KOH | p pam 4
(A) CH,CN (B) CH,NH,
(C) CH,Br (D) CH,OH
CH,CONH, Br, [ KOH »P, Pis:
(A) CHyCN (B) CH,NH,
(C) CH,Br (D) CH,0H
17. -G SIS & 7 :
(A) wH (B) %W -
(C) T | (D) g

Disaccharide is :

(A) Starch o (B)‘ Fructose
(C) Lactose (D) Céllulose
18. TNIRA © : ' 1
(A) RE W (B) W
(C) FreteEsed (D) WM

Enzymes are :

(A) Nucleic acids (B) Fats

(C) Carbohydrates (D) Proteins

Py o ot 3 g @ -2 a9

Answer the following questions in one-two words/ sentences :

19. mﬁWM%mmﬂmm?ﬁmmmWWM?

What type of semiconductor formed when Si is doped with P?
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20.

21.

22,

23.

24,

25.

26.

(7) 5629’(891: :
AN MnO,” —» Mn'2 3 Rig Bt 802 & ammag@sa erl ?

MnO,” - Mn'? for this reaction, how many Faraday arc required ?

T iR it onfamr G @ @l © 7

Is it possible that Molecularity of a reaclion can be zero ?

Zn,|Fe(CN),] @ TUPAC ™ fafaa
Write TUPAC name of Zn,(Fe(CN)g).

T A B Sp? SHlE el § A ?
CH,CH,CH,CH,I d CH,CH,CH,CH,Cl
Among CH,CH,CH,CH,I and CH,CH,CH,CH,Cl will show Sy’ reaction fast.

mmwwmﬂmwmmn

Write acidic order of Primary, Secondary and Tertiary alcohols.

0
Ci # IUPAC M faifEu

CH,
o _

Cr - write its IUPAC name.
CH,4 ‘

g Pt & A Rifle st aa 7 fRag &

Write the names of two vitamins soluble in fats.

P auga o @ e e A g A

27.

Fill in the blanks by appropriate words :

BCC e ¥ HGAT G Looovererane gfe B &1

Packing efficiency in BCC crystal is ... percent,
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28. 5UM NaOH 3 500 el e 9 dwean .. gt 1

If 5 g NaOH dissolved in 500 ml solution thc molality of solution wil]
be .....ioehil .

2. o areh & R s TR e 1

............ is the most Electroncegative clement in periodic table.

30. I k=2 % ot AR . & | 1

2
0.693

” Lhé order of reaction will be ............ )
1/2

If K=

31. OF IOEH ahaT St F oo & B

A catalyst ............ the activation Energy.

CH
32. 3 Cu i |
CH >CH@H e . 1
3 300°C ]

CH : '
3 > cH-oy Sy Powder - :
CH, 300°C

33. AT ARHHE ............ 2l
Tollen's reagent is ............ .
34. (C,H),NHT C,H,NH, ¥ § ........... afe arig B
Among (G Hs),NH and C,HsNH,, ......... ... i1s more basic.
35. 3o THo To & WM, =M, FRARFT T oo R HX 8 2
In RNA, the four basis present are Adenine, Guaqine, Cytosine and ............ .
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